TR

2
®y==
X

@ y=2(x-3)

O y=-2x+1

® 2x+3y=4



off HHgk

ax—+b 9 18

)

A,

® a>0,b>0°]H A3 A}

=
=

@ (0, b)



o 7V e AL

7ty =

I

g % 1

® y=3x

® y=-5x

@ y=-2x



ot
+

~
[

20429 T m7 A P AR

2 @ A 242w ® A 3AEH

@ A 4AFEH ® ik



@ 4x+y=1

@ y=4x+1

DO y=x+1

=4

® x+4y

1

@ 4x-y



o)

mf, of e

£ A

Z7F A (2,-5)

y=ax+3 9 13






Lo

= 3
Ay = 4x+ 5 0] 29

o]
=

8.

shelat.

%

, abc °] 3=

S}
=

c 2t



(1, 3) & At

al

KA

1

s

718717} 5 o]

® y=>5x+2

@ y=5x-3

® y=5x+3

® y=5x

@ y=5x-2






m0] 7]

WP AL 3x — 2y — 4 = 02] 12

OB

]

PN
e

@ 71&71
@ 71&71



12. ohe T mel B, A (4, 5)F Avks A4

yl\
|~
/1
=2 o 7
1 1
@yzix—?) ®y=§x—2 ®y
1 1
@y:§x+3 @y=§x+4






14.

ax-y—-3=0
2x+y-b=0

o] 2z =

T-3tofzt.

29



15. (2, 5) 7ty =ax-1 %1€ A& W, a 9] g2 F5tofzh

SR
-



Aol 4 (3, a)

@ 2 3 3 @ 4 B 5

D1



A¥d& 0

? 4

[eig
=

T, AAOB 9] Ho]=?

B 6 @ 8

L 1 T .
e }%}‘)Fy:—§X—2941€H5—7}x5?,y%3'}‘ﬂ‘4'—:75012}

B 10

7}t



18. T A x+3=0, 2y-4=029 78S AU, 2x-y+3 =09l
gt 2 /d o] iAol y W29

D 2 ® 6 A 7 @ 8 B 9



xoty

y=2x-8 9 1



20.

gt &olell 300 ¥ot= ol x Folet
Zo]E Fste] 2000 Yol A] Attt o] BAE x, y °l
LFERH T2

@ 3x-2y-20=0 @ 3x-2y+20=0

® 2x+3y-20=0 @ 3x+2y-20=0

® 2x-3y+20=0



21. 37/ A y=—x4+6,y=x+6,y=22 =AU =F 9] Yo|&
“Fotod et

s
=¥



22,

S I HAEF I y=x+4
y=—2x+12 9] W]
A1} x ko] W ol
WA AABC = Ol%%—%}% 24 9] 7127
=7

© -1 @ 2 ®_§
20
@ 4 @§

yl
y=1+4
B/ c
/0 \ =
y=—21+12



23.

=e2REUA =1
£l 0.2cm, B =1 Toﬂ 0.3cm ”—‘1 dol7t EolEdde. Al &<
RS, A, B o] Do} ZopxE AL 25 24 H 2 571

@® 30 & @ 40 & ® 50 &

@ 80 & ® 100 &



24.

O3} Zo] 7t22] Zo]7t 30 em , M=2] 4
°]7} 20cm §1 ZAFZEY ABCD 7t Qit. A P
7t C& &8ste] Mz 2cm 9] £ 22 BC
€ webA B7HA] 2211thaL S, AABP 9
o7 100em? 7t Hl= A2 A P A CE
S A E 2 FRAVE?

o
b

<
T

ORES
@ 1

0%

@ 6
B 1

o

2

N
o

1
20cm|
\

-

_--30cm- _ _

it
o




